
Sada příkladů 1/3

Limity funkcí I

1. Dokažte z definice, že

a) lim
x→1

(x
2

)3
=

1

8
b) lim

x→1+
[x] = 1 c) lim

x→1−
[x] = 0

Spočtěte

2. (a) lim
x→0

x2 − 1

2x2 − x− 1
(b) lim

x→1

x2 − 1

2x2 − x− 1

3. lim
x→2

( 1

x2 − 2x
− x

x2 − 4

)

4. lim
x→0

(1 + x)(1 + 2x) . . . (1 + nx)− 1

x
, n ∈ N

5. lim
x→1

x100 − 2x+ 1

x50 − 2x+ 1

6. lim
x→0

(1 +mx)n − (1 + nx)m

x2
, m,n ∈ N

7. lim
x→1

xn+1 − (n+ 1)x+ n

(x− 1)2
, n ∈ N

8. lim
x→1

x+ x2 + . . . xn − n

x− 1
, n ∈ N

9. lim
x→1

( m

1− xm
− n

1− xn

)
, m,n ∈ N

10. lim
x→0

2
x2 + 1√

3
x4 − 6

x2 + 5

11. lim
x→0+

(
√

1
x2 + 1−

√
1
x2 − 1)

x

12. lim
x→0+

(√√√√√1

x
+

√√√√1

x
+

√
1

x
−

√√√√√1

x
−

√√√√1

x
+

√
1

x

)

1



13. (a) lim
x→16

4
√
x− 2√
x− 4

(b) lim
x→0

√
x+ 1− 1

x

14. lim
x→0

√
1− 2x− x2 − (1− x)

x

15. lim
x→0

3
√
27 + x− 3

√
27− x

x+ 2
3
√
x4

16. lim
x→0

m
√
1 + x− n

√
1 + x

x
, m,n ∈ N

17. lim
x→0

√
1 + x− 3

√
1− x

3
√
1 + x−

√
1− x

18. lim
x→a+

√
x−
√
a+
√
x− a√

x2 − a2
, a ∈ R+

0

19. lim
x→0

m
√
1 + ax n

√
1 + bx− 1

x
, m,n ∈ N, a, b ∈ R
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